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English VVersion
(Use a separate Answer Book for each group)

Group—-A

Answer any four questions : [4x5]

a)
b)

c)
d)
€)
f)

9)
h)

‘A person has a concept of 'x" if he can distinguish X' from vy, z etc'. — Explain and examine.

'If a state of affair is logically impossible then it is both empirically and technically
impossible’ — Explain with example.

State some of the difficulties of the definition by denotation.

Explain with example, any two criteria of sentence meaning.

What is meant by ostensive definition?

Avre the following statements analytic or synthetic? Give reasons for your answer: [2.5+2.5]
i)  All colours are extended.

i) Everything that has shape has size.

Explain different causes of ambiguity of a word.

What are the fundamental principles of logic? Explain briefly.
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2. Answer any two questions : [2x15]
a) 1) Explain correspondence theory of Truth.
i) Give your opinion about the following statement: 'To me it is true, to you it may not
be.' [10+5]
b) 1) Define, after Hospers, analytic proposition.
i) Discuss different objections raised against the distinction between analytic and
synthetic proposition. [8+7]
c) i) Explain referential theory of word meaning.
i) Examine, how far this theory is acceptable. [10+5]
d) 1) Explain different conditions of propositional knowledge.
i) In what sense of the word 'Know' has been used in the following sentences:

a) | know the city of London.
b) I know that 2+2 =4

c¢) | know how to swim. [12+3]
Group—-B
3. Answer any four questions : [4x5]

a) What is purusartha? Explain.

b) What is the difference between sakama karma and niskama karma?

c) Make a difference between Apubrata and Mahabrata.

d) Distinguish between svadharma and paradharma.

e) Make a difference between moral and non-moral actions.

f) Distinguish between motive and intension.

g) What do you understand by utilitarianism?

h) What do you mean by ethical hedonism?

4. Answer any two questions : [2x15]

a) Explain karma yoga following the Gita.

b) Explain Kant's moral theory following W. Frankena.

¢) Why is a criminal punished? Answer with reference to the different theories of
punishment.

d) Explain any two of the following: [2%x7.5]
i) Act-Deontology
i) Bentham's 'Hedonistic Calculus'
iii) Presuppositions of Indian Ethics

iv) Sthitaprajiia

(3)



